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fn which gradium of Indin was the s

iled? gy
- Tendulkar unveiled”

il jlc: :‘:Ijmrjm ljm Wankhede Stagjy,,,
[i\‘ ;I:i" Janley SlndiumE{b] MNarendra Mod; Sty
tf-:; Uuﬂliﬂ“ not um.'mpft:iu
L was the Rising Rajasthan Global 1nyey, ,
whert “;gnniiﬂ-rr' ffhﬂﬂﬂ-c the most ap e

low)
b )
'r([}j

jyon from

(A) Jodhpur
Jaisalmer
::': Question not anempted
i " i ducted

" hakti-2024 gxercise was con by

{]_lngﬂn_rSFmt; at which place of Rajasthan? the
Indian :&h : ltﬁ] Bokbran
(A {tb) Barmer

Alwar
:(E:; Question not attemptéd?

. -;“iﬁrﬂnwlndian Skxpmr.nm
wWho among the folloWIng Yy . or
women, 1o have led India 1 rwo world cup cricket finaly in

20177 ,
2005 and 201 C{B) M.S. Dhoni

Yyuvraj Singh
:?1) Mithali Raj D) - Harmanpeest Kiur

(E) Question not attempied

Which scheme was launched by Ministry c_|r wﬂnjcn and
Child Development to promote gender equality and increase
sex ratio? L

(A) Mission [ndradhanus@ .

(B) Beti Bachao Beti Pad%mé Yojana

(C) Pradhan Mantri Garib Kalyan Yojana

(D) PM Shree Yojana ()

(E) Question not artempleg!_;

During the bumning of a :anﬂ[e":-

(A) Only physical change0¢curs

(B} Only chemical change occurs

{C) Neither physical nor chemical change occurs

(D) Both physical and chemicul changes occur

(E) Question nol attemptéd )

The elements which tend to form anions by gaining electrons
are known as:-

(A) Metals MB) Non-metals

{C} Malleable elements ({P) Ductile elements

(E} Question not attemptedy

Which of the following is an.ckample of amphoteric oxide?

Udaipur
Jaipur

(A) CO, (B) Sio,
(C) €0, (D) PhO
(E) Question not atermnpted

If the position af an object is at infinity, its image formed by
a convex mirror will be:. L)

(A)  Atthe focus behind the mirroe

(B) At the pole of the mirtas

{C)  Atinfinity I~

(D) Bctw-{tn the pole and(fhie focus of the mimror
(E)  Question not attempted y

The charu:tcr which d ] . ) ion
is called;- 0¢s noLéxpress itselfin F) generd

:g: EEH'?"‘“""" (B) Recessive character
minant character (D) Ge
(E}  Question not auu:n'lrm\:':]t } i
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1 of the following is NOT an essentia)
1:::'::1 for mppointment ‘:,"w“ Créitrmor?
(A] He should be a citizen of India
(8) He must have compleled the age of 35 yeary
(C) He must not be a{Tiember oF either House of

Purliament by
He should be r domigile of the state to which f, -
being appointed €3 ;
(E) Question not attempleds
Who smong Ihe following W3S the first Chief Seeretary o
:;‘;“‘r;;:'gw, Shiveshkar (B) Shr? K-Hudhﬂ,%
(C) Shriv.Nauraysn (D} ShriP.G.Rao
(E} Question pot artempied’y
Which Constitutional Adidnidment Act facilitated 4,
appointment of the stme peEbn as a Governaor for py,

Quali Fieay ity

{m

o or

M Sates” "
(A) 4° am e
(cy s* SP’ a
(E)  Cruestion nel atiemplecsy

Given below ant two stateriepts:

Statement I: The Governor appamts only those persong 5,
tmimisters who are reeommenided by the Chief Minster.
Statement [ Chicl Minister allocates and reshuffles i,
portfolios among ministers L5

In the light of the abovgistatements, chaose the moy
sppropriate answer from thgeptions given below;

(A  Bath Sienrent | and Slaternent I are corrpet

(B] Doth Statcment Land Statement 11 are incomeet

(C) Swcment [ is correct But Statement 11 is incorrect
(D} Seatemment Lis incomufihad Stutement I is coren
(E] Question non attempl

Who wis the ficst speaker of the Rajasthan Legistaiive
Asxembly?

(A) Poonam Chand Vishnoi

(H] Ram Miwas Mirdha
(C) Ram Kishore Viyas
(D) Narotam Lal loshi
(E}  Question not attempe

Jnﬂ-u-d_ucing & woman 1o hi§ﬂife. Raj said, *Her mother i3
the wife of iy mothet's f‘atE::j‘_ What i the relation of Raj

wil ll“: WD ﬁ.fﬂﬂ'l.l}[f
%J
:'

{A)  Cousin {Paternal)
(E}  Question nut attempted

(Ty]
N

Grandson {Maternal)
{C] Son N.E'Phﬂ'“l'

Surendra said to Ajay, “That girl playing badminton is e
granud-daughice of my mu‘ﬁﬂf father-in-law who had only

ofe son and no daughter” SHow is the girl related to
Surendra? N

(A} Siswer

(C) Miece

{E} Question not atremp
Navneet (old Preey, -
mather, you are ot my

) Wite

qlﬁ Dayghter
&

[ am the daughter of your
r." How iz Preet relmed 1o

Mavresy?

o = (B) Brother
Cousin (D} MNephew

(E) Mmm:,ngmm
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Below is a staicment fidlowed by two sssamplions. Baved

only on the starement, decide which of the avamplions is/

are implicit in the statcrrent

Stntement; When po:q-uru'hh who painted your home, you

knurw that your home is -C'n.‘l.'llcnl.'ljr panricd.

Astamptions:

l. People want you i !ﬂil them the criteria for excellem
ranling.

1. People do nod ask ihclul your painter il Lhe pumimg of

your home 15 oot gcmd

Only [ is imphcit

Cwnly 1§ is implicit

Both | ard [1 are I.l'l.'IP'IiEII.

{0y Seuher | noc B is hmplunl

{F)  Question not :rrmEmd

In the question given below, a satement i followed by two

assurnplions numbered Tamd 1. Bazed on the statement and

following assumpiions, degide which of the assummprions is/

are implicit. -

Statement: A bus ageney has decided to increasc the

passenger fare by 0% after the board meehing.

Assum ptions:

L The demand for the scuts will Gl drastically.

Il Owher bus agencied Jill also hike (heir farcs,

(A) Only Lis implicn £%]

(By Omiy llis i.mplmi.tﬂ

(C)  Doth 1und I are ifplicit

{D}  Meither | nor [ is iffiplicit

{E) Question not attenipicd

Helow is a statement followed by rwo assumptions. Based
only on the statement, dcaj:l\: which of the assumptions is/
arc implicit in the statement
Statement: | connot use intormet At location X.
Assumplions:
L Intemet facility is %% available ar
lacation X
in. Thcs:dﬂﬂﬂ‘ucinl{f?ln is e working properiy.
(&) Only [ isimplicit L
(8) Only Il is implicit =
{C}  Both | and 1l are i@ich
{1y Neither I nor 11 is aplicit
(E} Question nol attempted

Given below is one ataiement followed by two arguments |
and 1. You have to decide whether a particular argument iz
Sirong or mol Lo

Statement: Should every'girl have selfedefence training?
Arguments:

1 Mo. They will wurnlmasculine.

1. Yes It would giveithemn the confidence 1o counter
their peipetrators -efﬁb.lively.

Only argument 1L rﬁ'!l'n;:rrg

Buath | and 11 are stroonge

Meither [ nor 1 is sorong

Queston M amempled

(A
(8}
(<)

(A)
(8}
o]
(D}
(E)
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Which of the following figures will complete the given

figure scries? lﬂ
K]
A0 ) 5 A
A =
O oL Q
-
] Q
(A) W™ |, °
& 5]
A &)}
© [ 9 | 4
&
E) Questi t ted
{ eslion nol atnemp e

Which of the following figufess the odd one out?
.y

> |
~ | | € =
[3) [b} fe) {d) fel
(A) b i d
i) = b} c
{E} Question not aitem ; -
Choose the odd one out. &)
=]
— =] —
| TE
{a) (b} (<} {d)
{(A) 1 aﬁ; b
(C) ¢ gLy d

(E) Question not attemptéd=
Choose the corroct mirror @ M) image of the figure(X)

given below:

Q
w
'>/n Mirror
1
x ™M o
~
w2 e X
o Nl B [K

{E) Question not aftempied
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is onc statement foliowed by twy, ,
Given B ide whether a par; ’Ru""'fnh
e to dect particular , |
e ;ﬁ:um 1y By
;T:'r‘l'g““““ Should the bao Ot poaching tigery y lifte g,
e I“J':':::.u'l:hc poachers M&ming t]'l_-ci_ r livel; oo
[ Yes Thetigers 3 dSgErous imals ang e be
" jhrcat to humans. @ -
Only argument | is steeig
Only argument Tl s H!ii_'n_'pg
|;!-|.:ﬂ"| I and [l are strong?
Dy Neither | por 1115 strong
}E}l:II Qcstion not attempted

You o _ﬂ_i'll"ﬂﬂ a ﬂﬂtﬂﬂ‘:nll ﬁ?t?[?wl:d hf t‘-\l'lJ a_rgu-m ents ls

1. Devide whether a particulas argument is strong o ot

Statement: Should the captain al the foorkal team

replaced by a experienced ?H}cr fur the Upcoming wirg

cup series due in three yeargh,

Arguments: ] ) :

I Yes. The current captaio is neanng retiremen 5, 43
new caplain needs te be nurtured ﬁ?r Future.

Il.  Yes The current captain has a partisan attitude |, e

team selcution procedure,

Cmly argument [ 15 strong

Only argument (1 is strong

Buoth ! znd [l are strong

(D) MNeither [ noe 11 is strong

{E) Question not anerptéd |

In the foltywing question, thefe are two Hatements (1} ang
(b) followed by two conclimions I and I1. You have I
consider the statements t0 b€ true even if they seem to be 4
variance from commonly koown facts. You have to decids
which of the given :uncILELuns, iff any, follow from the
given stalcments.

Statement: @
8  All who are punctual, succeed in life.
b.  Shectal has always respected time,
Conclusions:

L Shectal is & success m‘gﬁm

Il Shectal is an entrepreneur.

(A Only conclusion | follgis

(B} Only conclusion Il follews

(C)  Either T or Il follaws ¢

(D} Both |and II follow )

(E) Question not anempied

In the question given Belowpthere is a statement followed
by two conclusions | and |1, Assume everything in the
gatement to be true, then decide which of the conclusions
follow the statement beyond reasonable doubr

Sl_ﬂ_l.-mt--lr The Chiel Minister of a state asked three of his
TUNIAETS 10 either submit their resignations by the evering
or face disciplinary action. Twn of them resigned
immediately, -]

Conclusions: I~

.  The remaining one wgld resign by the evening.

i The_ Chief Minister&;ill take disciplinary action
2gmnst him, [

Only conclusion | fotluws

Only conclysion 1 folldws

Either I oe 1 follows

Both | and 1| fullow

ion noy atempted

{A)
(B}
()

(A
(83
)

(A)
(8)
<y
{D)
(E})
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ion i ith provision be app|;

{he action in good fait : ——
:Ir?)u::\knuwingly declares Exf;mp:cd information? t(‘k ifa
the most appropriate option frém below) huo_,:
faction of any officia| Uder N

Yes, il applics (o any'é
o sRTI Act’ or any ruleThere under.

No, it will not be applicable.
protection of the “Egbion in good faith~ ot
applicable toa PIO el L

No, it only apphes tugf?nl 1o give in ‘“r"ﬂ‘nili.:.,
under the “RT1 Act, 2005.

(E) Question not atempre

After the enaciment of the “RTT Act, 2005°, '~':ha1 is the
«atus of the *Freedom of Information Act, 2002°2 (Chooss
the most appropriate optionffom below)

(A) It has been repealed. 0]

(B) It will become operative 2s soon as the Centy
Govemnment makes rules under it.

The Central GOH'{:]'WI_ has advised the Stage
Government to implement it

It exists and to mqﬁmm the "RTl Aq, 2005
contradicts, it will sup?:ﬁsr:d-: the latter.

{E}  Question not alttlt=1r='1|:1'l¢-‘~\=1

Which provision of the RTI Act explains about transfer of
applications?

{A) Section 5(3) LB} Section 6(3)

(C) Section N5} ﬁHD] Section 5{1)

(E} Cuestion not au:mpt@

The Right to Information AR%-2005 was enacted on:-

(A) 22 June 2005 £y 22 July 2005

{C) 2 Ocwber 2005 € 15 June 2005

{E} Question not antmplﬂ}

Which of the following Filk deities is worshipped ag
“Ramsa-Pir* by the muslims?

{A) Goguji (B} Mallinathji

(C} Ramdcevji {D} Devnarayanji

(E})  Question not atiemptéd™)

Name the Khyal which is a beaurtiful fusion of contemporary
MEws, peiry, music, songs ind dance.

{A) Hela Khyal PtB)  Jaipusi Khyal

(€} KanhaiyaKhyal  €fD) Shekhawati Khyal

(E)  Question not attemprédy

Name the famous 'Swaadg® artist who
Rajasthan in Bharat Ursay 75"

{A)} Janki Lal Bhand {B) Lachhiram

(€} Mangilal Mistri (D} Gopi Kishan Bhatt
(E} ql.ltsli.::n not attempled
Shrilal Joshi, a phad artise b!: .
(A) Sikar Q';“” p
(€) Chury ey
(E)  Question not attempedit=

Who among the follg

Wil'l.g Tote the * ckar”, @
four volume history? E : e "Vamsha Bha
{A)  Suryamal Mishrag

o
(8) KH'HHJ S‘h}'ﬂl‘lldllhg
(D) Dushora Durlabh R
(E) ion nol atempeed

(8)
()

(D)

(<

i
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In this question, n statement is followed by 2 st of

conclusioms, Carefully ﬂs::“ which of the conclution{s)

legically !tt:ll-nw:s; I'We staternent and choose the

comect opLion.

Statement: Knti leurns Yance from the Hindustani Dance

Acaderny. She is a well dannered girL

Conclusions:

L Pesides the fact lhé_?;hc leamns dance. another rait of
Kriti is her nice behaviour with everyone.

1,  People whao leam dance are bound 1o be well behaved.

{A) Both [ and Il follow

(B) Onlylfollows L)

(C)  Neither I nor 11 foflows

(D) Omly Il follows P

(E)  Cuestion not attcrr;g.fd

In the question given befow, there is a statement followed

by three courses oFartitm:_EII znd 111, Assuming everything

given in the statement as triic, decide which of the suggested

caourse of action logically follow(s).

Statement: There is a significant increase in Jung related

ailments in the city due o sEvere smog,

Courses of Action:

s I'ublic must be tnuﬁéi*ragnd to use public ransport.

1. Hosptals should b&_inf'unﬂcd about the situation and

asked to remain prc!:mtd to handle farge inflow of

patients. o

A delegation of "health officials should visit the

President of the country Lo intimate about the situation.

Only T and 11 follow (3}  Omily 1 and [1] follow

Cnly 1L and LI fu1m (I Omly 11 follows

Question not attemnpred

.

(A}
<
(E)

In the question given bq_m there is a statement followed
by two courses wf action La::d 1. Assuming the informanion
Eiven in the statememt as bruc, decide which of the suggested
course(s) of action logically follow(s).

Statement: If the retired €ehior police officers are invited to
deliberate on security arrangements during the convocation
ceremony of a very reputed university, it would really be of
great help. (Te)

Courses of Actlyn:

.  The management{Bhould seck permission of the
professors of the finiversity before calling retired
police personnels.

The proctoral o should involve experienced
people in beefing up the sccurity of the university.
Only I follows (B]  Oniy 11 follows

Either | or Il follows {3} Both [ and 11 follow

Question nol attempied

(A}
(<3
(E)
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